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MTH 95 Factoring Non-Monic Trinomials Date

1. Factor each polynomial completely. Note that these are all trinomials with a leading coefficient
other than 1. Check your factorization by multiplying out the factored version.
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MTH 95 Factoring Non-Monic Trinomials Date

2. A rectangle has ared 10x2 + 3x — 27 square centimeters, where x is some unknown number.
Its two side lengths are nicg, simple, linear binomials.

a) What are lengths of the each side, expressed as an expression in x?

AN

/ Fockers  AC=-270
S Al /7] zlodtaige-15x —2F  (NEFD 7T

T;:—sl T 2x(5xrq) ~3(S14A) () (-16) 3
= (Sx+) (2% -3)
\Aecf\n,\. VERIE 4N

.
.

b) Based on the previous answer, what must x be larger than to guarantee the rectangle has
positive length and positive width?

Need 2«-3 > O N ik mast be locer
X > | S

3. When you stand on top of a certain skyscraper and throw a javelin straight up in the air, it
eventually turns and falls all the way to the street below. Since the building height is 407 feet,

and you throw the javelin with an initial speed of 14 feet per second, the height of the javelin
after t seconds is

—16t> + 14t + 407
Y (That —16 has to do with how strong gravity is on Earth.)
vy a)(Factor that polynomial. JThis may take time. When you look for factor pairs of AC, there
poop are 20 of them (not counting negatives). Use a simple calculator to help speed up finding

the factor pairs.

—ot? +3R/t - FULE +407F
(D
—~a( 2 = 11) ~ﬁ(2+— )

= (2e-1) (8% —37)

n

b) Based on the factorization, can you predict the time when the javelin will hit the ground?
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MTH 95 Factoring Special Patterns Date

1. Factor each polynomial (completely). If it can’t be factored, then label the polynomial as prime.
Note that most of these are polynomials with some special pattern that allows you to factor them
. S e . 2 2
quickly. Check your factorization by multiplying out the factored version. A g
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MTH 95 Factoring Special Patterns Date

2. Find the prime factorization of the number 899 by observing that it equals 900 — 1, and then

observing that 900 = 302.

A9 = 3t~ |*
399 = (zo+1) (3o-\)
gaa = 31-29

. Without using a calculator, find +'10609 by observing that 10609 equals 10000 + 600+ 9, and

that 10000 = 1002,

\ﬂOC-)OO\ :@ooOf(pTO; 4~°\& zJ(\oO +3')2 = 07}

(o0 3

. The shaded area on the left represents A2 — B2, And the shaded area on the right represents

(A+B)(A—B). Recently we have learned that A2—B? = (A+B)(A—B). Enhance these pictures to
reveal an explanation for why this is true. You could draw some lines and shade some sections

of the images in additional ways. Your goal is to draw a picture that convinces someone that
the left shaded area equals the right shaded area.

5 (A+B)(A-B)

oy -
= —~ )
=0 ) R N\ Ve {
'
A Aﬁ 1
!
1
]
(]
\ T
A A B

5. The shaded area represents (A+ B)2. Recently we have learned that A% + 2AB + B2 = (A + B)?.

Enhance the picture to reveal an explanation for why this is true. You could draw some lines
and shade some sections of the images in additional ways. Your goal is to draw a picture that
convinces someone that the shaded area is the same as A2 + 2AB + B2,
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